



### AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

### **Topic: 3.5 – EVOLUTES**

Involutes and Evolutes.
Involutes and Evolutes:
The locus of the centre of curvature of the given curve is called the evolute of the curve. The given curve is called the involute of the evolute.  Working rule to find Evolute:  1. Write the pavametric equation of the given curve.  2. Find the centre of curvature = (x, y).  3. Eliminate 0 the parameter 0 (00) to from (x, y)  4. taking the locus of (x, y) the required evolute is $g(x,y)=c$ .
parabola 1. 2= 4ax parabola 1. 2= 4ax parabola 1. 2= 4ax parabola 2. x=2at; y=2at
Ellipse 2 1 1 2 = 1 x = a coso,
hyperbola $x^2 - y^2 = 1$ $x = a \operatorname{Sec} \theta$ ; $y = b + a n \theta$ .
Rectangular xy=c2 x=ct, y=c/t.
Astroid x23+y23=23 x=acoso, y=asinso.





### AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

1. First the equation of the evolute parabola y= 4ax. the parametric equation of parabol y= 40x are x=ax2, y=dat. We have to find the centre of according 21 = at2 1, 4 = 2at. do = dat; dy = 2a. y, =dy dy dt dx = da  $y_2 = \frac{d^2y}{dx^2} = \frac{d}{dt} \left( \frac{dy}{dx} \right) \frac{dt}{dx} = \frac{d}{dt} \left( \frac{dy}{dx} \right)$ = - 1/2 · 1/2at = -1 = at2-/ (-aat3). (1+/2) = at2+ 2at3(1/2)(++1) =  $at^2 + 2a(t^2 + 1) = at^2 + 2at^2 + 2a$   $\overline{x} = 3at^2 + 2a \rightarrow \mathbb{O}$ .





### AN AUTONOMOUS INSTITUTION





### AN AUTONOMOUS INSTITUTION

2. find the equation of the evolue of the ellipse ellipse 
$$\frac{\pi^2}{2} + \frac{y^2}{b^2} = 1$$
.

Find the parametric equations (the ellipse are  $\pi = a \cos \theta$ ;  $y = b \sin \theta$ .

 $\frac{d\pi}{d\theta} = -a \sin \theta$ ;  $\frac{dy}{d\theta} = b \cos \theta$ .

 $\frac{d\pi}{d\theta} = -a \cos \theta$ ;  $\frac{dy}{d\theta} = b \cos \theta$ .

 $\frac{d\pi}{d\theta} = -a \cos \theta$ ;  $\frac{d\pi}{d\theta} = \frac{d\pi}{d\theta} = \frac{d\pi}{$ 





### AN AUTONOMOUS INSTITUTION

$$= a \cos \theta - a \sin^{2}\theta \cos \theta - b^{2} \cos^{3}\theta.$$

$$= a \cos \theta - a (1 - \cos^{2}\theta) \cos \theta - b^{2} \cos^{3}\theta.$$

$$= a \cos \theta - a \cos \theta + a \cos^{3}\theta - b^{2} \cos^{3}\theta.$$

$$= (a^{2} - b^{2}) \cos^{3}\theta. \rightarrow 0$$

$$Y = y + (1 + y^{2}) = b \sin \theta - a^{2} \sin^{3}\theta / (1 + b^{2} \cot^{2}\theta)$$

$$= b \sin \theta - a^{2} \sin^{3}\theta / (a^{2} \sin^{2}\theta + b \cos^{2}\theta)$$

$$= b \sin \theta - a^{2} \sin^{3}\theta / (a^{2} \sin^{2}\theta + b \cos^{2}\theta)$$

$$= b \sin \theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin \theta$$

$$= b \sin \theta / (1 - \cos^{2}\theta) - a^{2} \sin^{3}\theta$$

$$= b \sin \theta \sin^{2}\theta - a^{2} \sin^{3}\theta$$

$$Y = (b^{2} - a^{2}) \sin^{3}\theta \rightarrow 0$$
Now we have to eliminate  $\theta$  between  $0 + 0$ 

$$(ax)^{3} = (a^{2} - b)\cos^{3}\theta$$

$$(ax)^{3} = (a^{2} - b)\cos^{3}\theta$$

$$(by)^{2/3} = (b^{2} - a^{2})\sin^{3}\theta \rightarrow 0$$

$$(by)^{2/3} = (b^{2} - a^{2})\sin^{3}\theta$$





### AN AUTONOMOUS INSTITUTION